
©C V2V0V1[5G GKpugtHa] wSgocfatfwFajrpeR JLmLfCS.b W pAal[lq Ar\iugThktgsD Tr\eQsjeOrqvLeAdI.v h BM_aJdyec gwbiztOhu EIxnDfWiAnYiltEes EChaGlbcAuzl`uAsS.

Worksheet by Kuta Software LLC

Calculus

Upper and Lower Sums
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For each problem, find the area under the curve over the given interval.  Set up your solution
using the limit as n goes to ¥  of the lower sum.

1)  f (x) =  x;  [0 , 2 ]                                                                                          

2)  f (x) =  3 x;  [0 , 4 ]                                                                                          

3)  f (x) =  2 x +  3 ;  [0 , 5 ]                                                                                          

4)  f (x) =  x +  5 ;  [0 , 8 ]                                                                                          

For each problem, find the area under the curve over the given interval.  Set up your solution
using the limit as n goes to ¥  of the upper sum.

5)  f (x) =  2 x;  [0 , 4 ]                                                                                          

6)  f (x) =  x 2;  [0 , 1 ]                                                                                          

7)  f (x) =  2 x 2
 +  2 ;  [0 , 2 ]                                                                                          

8)  f (x) =  2 x +  2 ;  [0 , 3 ]                                                                                          

For each problem, find the area under the curve over the given interval.

9)  f (x) =  x 2;  [0 , 2 ]                                                                                          

10)  f (x) =  2 x 2;  [0 , 1 ]                                                                                          

11)  f (x) =  2 x;  [0 , 6 ]                                                                                          

12)  f (x) =  x 2
 +  5 ;  [0 , 1 ]                                                                                          

13)  f (x) =  3 x +  2 ;  [0 , 1 ]                                                                                          

14)  f (x) =  x 2
 +  1 ;  [0 , 3 ]                                                                                          
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Answers to Upper and Lower Sums
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